HMANIE BT 4

D EIENE | 75 E1RKE
PEIEMNE . RBESAE , TFHHR
EH 22120.
EmER
REIEERANRKRSIEA.
ME FEE:
- WEHRETERTAAN,
o TH#SH 1.4305 e
BEHT “ﬁ
o TEEEH 1.4305, R AEEE
Fi T BB,
- FEH 1.4305 2R EEREE.
— & -~ FLER

« XEE AR ERENS BIEME  BiE
- EERER EARSEIEME

i

T ¢

(FEEErERREREEREELERE
5 '|.| ;Ir“
EL

i

Bm
d3
®

- _m

_N

N b5 lock nut
u_N - d1' 22120.0515 — .0520 (stainless steel)
w dz
BH1H2

tNHALDER

FIE7E: 12.10.2023



HMANIE BT 4

DEEMAE / 5 BRE
HES &)
R BEWE" & &
d; d, ds Iy I I3 Fi F, max.
-0,02 = min = =
-0,05
[mm] [N] [°C] ld]
T
5 M10 x 1 21 45,0 5 22 6,0 14 250 36 22120.0475
6 M12x 1,5 25 54,5 6 26 6,5 19 250 62 22120.0476
8 M16 x 1,5 31 69,0 8 34 11,5 28 250 124 22120.0478
10 M20 x 1,5 31 80,0 10 41 23,0 54 250 165 22120.0480
) st ME
Bt
R~ WFRF [ 1
d,
[mm] [mm] lal
SHERI28 1SO 8675 (DIN 439), T EH
M10x 1 16 52 22120.0515
M12 x 1,5 18 75 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
#EVTE, H
M10 x 1 - 9,3 22120.0955
M12x 1,5 - 14,0 22120.0956
M16 x 1,5 - 25,0 22120.0958
M20 x 1,5 - 27,0 22120.0960

LIS

BRFHANERES  BEEMRENER.

HE2m2

EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.0475
http://halder.com/tw/22120.0476
http://halder.com/tw/22120.0478
http://halder.com/tw/22120.0480
http://halder.com/tw/22120.0515
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518
http://halder.com/tw/22120.0520
http://halder.com/tw/22120.0955
http://halder.com/tw/22120.0956
http://halder.com/tw/22120.0958
http://halder.com/tw/22120.0960

